

MAXIMA AND MINIMA OF STATIONARY SEQUENCES¹

BY RICHARD A. DAVIS

University of California, San Diego

We show that the asymptotic behavior of the normalized maxima of a stationary sequence satisfying a weak distributional mixing and bivariate condition is completely determined by the marginal distribution of the process. Sufficient conditions are given in order for the maxima and minima to be asymptotically independent. An example of a 1-dependent sequence where the maxima and minima are not asymptotically independent is also provided.

1. Introduction. Let $\{X_n : n = 1, 2, \dots\}$ be a strictly stationary sequence with F and $F_{i_1, \dots, i_p}(\cdot, \dots, \cdot)$ denoting the marginal distribution function (df) and joint df of X_{i_1}, \dots, X_{i_p} , respectively. Let $\{u_n\}$ be a sequence of real numbers. We shall say (cf. [2]) that the condition $D(u_n)$ is satisfied by the sequence $\{X_n\}$ if for any n , and any choice of integers $i_1 < \dots < i_p < j_1 < \dots < j_q$, $j_1 - i_p > l$, we have

$$|F_{i_1, \dots, i_p, j_1, \dots, j_q}(u_n, \dots, u_n) - F_{i_1, \dots, i_p}(u_n, \dots, u_n)F_{j_1, \dots, j_q}(u_n, \dots, u_n)| \leq \alpha_{n, l}$$

where $\alpha_{n, l}$ is nonincreasing in l and $\lim_{n \rightarrow \infty} \alpha_{n, l_n} = 0$ for some sequence $l_n \rightarrow \infty$ with $l_n/n \rightarrow 0$. The condition $D(u_n)$ is potentially much weaker and easier to verify than strong mixing, for there are fewer pairs of events to consider and these events are of a particular form.

Let $M_n = \max\{X_1, \dots, X_n\}$ and $u_n = u_n(x) = x/a_n + b_n$ for some constants $a_n > 0$ and b_n . Gnedenko [1] showed that if $\{X_n\}$ is an independent and identically distributed (i.i.d.) sequence then there are only three possible nondegenerate limiting distributions for the normalized maxima. Loynes [3] weakened the i.i.d. assumption in Gnedenko's trinity theorem to strong mixing and stationarity. Leadbetter [2] extended Loynes result to stationary sequences satisfying $D(u_n)$ for all x . Furthermore, Loynes [3] and O'Brien [4] showed that if a stationary strong mixing sequence satisfied a particular bivariate condition R_1 , then $P(a_n(M_n - b_n) \leq x) \rightarrow G(x)$ if and only if $P(a_n(\hat{M}_n - b_n) \leq x) \rightarrow G(x)$, where $G(x)$ is a nondegenerate df and \hat{M}_n is the maximum of n i.i.d. random variables with marginal df F . The condition R_1 was developed from the one used by Watson [5] for the m -dependent situation. Section 1 extends this result to a stationary sequence satisfying $D(u_n)$ and the following bivariate condition for all x . The condition $D'(u_n)$ is said to hold if $\limsup_n n \sum_{j=1}^{n-1} P(X_1 > u_{nk}, X_{j+1} > u_{nk}) = o(1/k)$ as $k \rightarrow \infty$.

Received December 9, 1977.

¹This research was supported in part by the Office of Naval Research under Contract N00014-75-C-0428.

AMS 1970 subject classifications. Primary 60F05; secondary 60G10.

Key words and phrases. Nondegenerate limiting distributions, maximum and minimum value, stationary sequence, distributional mixing, m -dependence, stationary Gaussian sequence.

In Section 2 we prove, under a suitable mixing and bivariate condition, that the normalized maxima and minima are asymptotically independent. Section 3 contains an application to a stationary Gaussian sequence with covariance function r_n . If $r_n \log n \rightarrow 0$ or $\sum |r_n|^p < \infty$ for some $p > 1$, then the normalized maxima and minima are asymptotically independent. We also give an example of a 1-dependent sequence where the normalized maxima and minima marginally behave as though the sequence was i.i.d., yet jointly they are not asymptotically independent.

2. Limiting results. The aim of this section is to prove that if $P(M_n \leq u_n) \rightarrow e^{-\tau}$ as $n \rightarrow \infty$, then $P(\hat{M}_n \leq u_n) \rightarrow e^{-\tau}$.

LEMMA 2.1. *Suppose that $D(u_n), D'(u_n)$ hold for the stationary sequence $\{X_n\}$ where $\{u_n\}$ is a nondecreasing sequence of real numbers. If $P(M_n \leq u_n) \rightarrow e^{-\tau}$ as $n \rightarrow \infty$ then $P(\hat{M}_n \leq u_n) \rightarrow e^{-\tau}, 0 < \tau < \infty$.*

PROOF. By the $D(u_n)$ assumption, we have

$$(2.1) \quad P^k(M_n \leq u_{nk}) - P(M_{nk} \leq u_{nk}) \rightarrow 0,$$

for every fixed integer k (cf. Leadbetter [2]). Using some simple estimates and stationarity, we have

$$1 - n(1 - F(u_{nk})) \leq P(M_n \leq u_{nk}) \leq 1 - n(1 - F(u_{nk})) + n \sum_{j=1}^{n-1} P(X_1 > u_{nk}, X_{j+1} > u_{nk}),$$

so that

$$(2.2) \quad (1 - n(1 - F(u_{nk})))^k \leq P^k(M_n \leq u_{nk}) \leq [1 - n(1 - F(u_{nk})) + n \sum_{j=1}^{n-1} P(X_1 > u_{nk}, X_{j+1} > u_{nk})]^k.$$

Define $\varphi(k) = \limsup_n n(1 - F(u_{nk}))$ and $\Psi(k) = \liminf_n n(1 - F(u_{nk}))$. We now show that

$$(2.3) \quad \tau \leq \liminf_k k\Psi(k) \leq \limsup_k k\varphi(k) \leq \tau.$$

Suppose $\limsup_k k\varphi(k) > \tau$. Then there exists an $\epsilon > 0$ and an increasing sequence of positive integers k_j such that $k_j\varphi(k_j) > \tau + \epsilon$ for all j . Choose $\delta > 0$ such that $\delta < \epsilon$. Now, by the $D'(u_n)$ assumption, pick a k_j so large that $k_j > \tau + \epsilon$ and

$$k_j \limsup_n n \sum_{j=1}^{n-1} P(X_1 > u_{nk_j}, X_{j+1} > u_{nk_j}) < \delta.$$

Moreover, since $\varphi(k_j) = \limsup_n n(1 - F(u_{nk_j}))$, there exists a subsequence n_s such that $n_s(1 - F(u_{n_s k_j})) \rightarrow \varphi(k_j)$. Taking the limit of the left-hand side of (2.2) through the subsequence n_s and making use of (2.1), the above construction, and some elementary inequalities, we obtain the following contradiction

$$e^{-\tau} > e^{-\tau - (\epsilon - \delta)} \geq \left(1 - \frac{\tau + \epsilon}{k_j} + \frac{\delta}{k_j}\right)^{k_j} \geq \left(1 - \frac{\varphi(k_j)}{k_j} + \frac{\delta}{k_j}\right)^{k_j} \geq e^{-\tau}.$$

The proof of the left-hand side of (2.3) can be proved in a similar manner.

Let $\{\hat{X}_n\}$ be an i.i.d. sequence with marginal df F . We then obtain

$$(2.4) \quad (1 - n(1 - F(u_{nk})))^k \leq P^k(\hat{M}_n \leq u_{nk}) = P(\hat{M}_{nk} \leq u_{nk}) \\ \leq (1 - n(1 - F(u_{nk})) + S_{nk})^k,$$

where $\hat{M}_n = \max \{\hat{X}_1, \dots, \hat{X}_n\}$ and $S_{nk} = n \sum_{j=1}^{n-1} P(\hat{X}_1 > u_{nk}, \hat{X}_{j+1} > u_{nk}) = n(n-1)(1 - F(u_{nk}))^2$. By (2.3), $\limsup_n S_{nk} = o(1/k)$. It now follows that

$$(2.5) \quad \left(1 - \frac{\tau}{k} + o\left(\frac{1}{k}\right)\right)^k \leq \liminf_n P(\hat{M}_{nk} \leq u_{nk}) \\ \leq \limsup_n P(\hat{M}_{nk} \leq u_{nk}) \leq \left(1 - \frac{\tau}{k} + o\left(\frac{1}{k}\right)\right)^k,$$

using the fact that $\varphi(k) = \tau/k + o(1/k)$ and $\Psi(k) = \tau/k + o(1/k)$. The idea now is to replace nk by n in (2.5) and then let $k \rightarrow \infty$ to obtain the desired result.

For a fixed integer k , choose the sequence of integers r_n such that $r_n k \leq n < (r_n + 1)k$. It is easily seen that

$$(2.6) \quad \liminf_n P(\hat{M}_n \leq u_n) \geq \liminf_n P(\hat{M}_{(r_n+1)k} \leq u_{(r_n+1)k}) \\ - \limsup_n P(u_n < \hat{M}_{(r_n+1)k} \leq u_{(r_n+1)k}).$$

However,

$$\limsup_n P(u_n < \hat{M}_{(r_n+1)k} \leq u_{(r_n+1)k}) \\ \leq \limsup_n P(u_{r_n k} < \hat{M}_{(r_n+1)k} \leq u_{(r_n+1)k}) \\ \leq \limsup_n (r_n + 1)k P(u_{r_n k} < \hat{X}_1 \leq u_{(r_n+1)k}) \\ = \limsup_n (r_n + 1)k (1 - F(u_{r_n k}) - (1 - F(u_{(r_n+1)k}))) \\ \leq k\varphi(k) - k\Psi(k) = o(1) \rightarrow 0$$

as $k \rightarrow \infty$, using the hypothesis that $\{u_n\}$ is a nondecreasing sequence and (2.3). Putting (2.5) and (2.6) together we obtain

$$(2.7) \quad \liminf_n P(\hat{M}_n \leq u_n) \geq \left(1 - \frac{\tau}{k} + o\left(\frac{1}{k}\right)\right)^k - o(1),$$

where $o(1) \rightarrow 0$ as $k \rightarrow \infty$. A similar calculation yields

$$(2.8) \quad \limsup_n P(\hat{M}_n \leq u_n) \leq \left(1 - \frac{\tau}{k} + o\left(\frac{1}{k}\right)\right)^k + o(1).$$

The conclusion of the lemma now follows at once by letting $k \rightarrow \infty$ in (2.7) and (2.8). \square

The following technical lemma will be used in allowing us to remove the nondecreasing requirement on the $\{u_n\}$ sequence.

LEMMA 2.2. Suppose that $D(u_n)$ holds for the stationary sequence $\{X_n\}$ and $P(M_n \leq u_n) \rightarrow e^{-\tau}$, $0 < \tau < \infty$. Let $\{t_n\}$ be a sequence of integers tending to ∞ . Then for every fixed positive integer k ,

$$P^k(M_{[t_n/k]} \leq u_n) \rightarrow e^{-\tau} \quad \text{as } n \rightarrow \infty,$$

where $[s]$ denotes the greatest integer not greater than s .

PROOF. Under the hypotheses $D(u_n)$ and $P(M_n \leq u_n) \rightarrow e^{-\tau}$, it can easily be shown that $u_n \rightarrow x_0$ where $x_0 = \sup \{x : F(x) < 1\}$. Hence $P(X_1 > u_n) \rightarrow 0$ as $n \rightarrow \infty$.

For a fixed integer k , choose a sequence of integers r_n such that $r_n k \leq t_n < (r_n + 1)k$. Since $0 \leq P(M_{r_n k} \leq u_n) - P(M_{t_n} \leq u_n) \leq kP(X_1 > u_n) \rightarrow 0$ as $n \rightarrow \infty$, it is enough to show $|P^k(M_{r_n} \leq u_n) - P(M_{r_n k} \leq u_n)| \rightarrow 0$ as $n \rightarrow \infty$. The proof of this fact follows from Leadbetter's proof of Lemma 2.5 in [2] replacing n by r_n and nk by t_n .

LEMMA 2.3. Suppose that $D(u_n)$ and $D'(u_n)$ hold for the stationary sequence $\{X_n\}$. Then $P(\hat{M}_n \leq u_n) \rightarrow e^{-\tau}$ if $P(M_n \leq u_n) \rightarrow e^{-\tau}$, $0 < \tau < \infty$.

PROOF. By the remark made at the beginning of the proof of Lemma 2.2, $u_n \rightarrow x_0$. Also, since $e^{-\tau} < 1$, we have that $u_n < x_0$ for all sufficiently large n . Hence we shall assume, without loss of generality, that $u_n < x_0$ for all n .

Define $v_n = \max_{1 \leq j < n} \{u_j\}$. Then $v_n = u_{s(n)} = v_{s(n)}$, $s(n) \leq n$, $s(n) \rightarrow \infty$, and v_n is a nondecreasing sequence. Since $v_n \geq u_n$ for all n , condition $D'(v_n)$ is obviously satisfied and the condition $D(v_n)$ can easily be verified. Moreover,

$$\begin{aligned} e^{-\tau} &= \liminf_n P(M_n \leq u_n) \leq \liminf_n P(M_n \leq v_n) \leq \limsup_n P(M_n \leq v_n) \\ &\leq \limsup_n P(M_{s(n)} \leq v_n) = \limsup_n P(M_{s(n)} \leq u_{s(n)}) = e^{-\tau}. \end{aligned}$$

Hence $P(M_n \leq v_n) \rightarrow e^{-\tau}$ and thus, by Lemma 2.1, we have $P(\hat{M}_n \leq v_n) = (1 - (1 - F(v_n)))^n \rightarrow e^{-\tau}$. It should be noted that $P(\hat{M}_n \leq v_n) \rightarrow e^{-\tau}$ if and only if

$$(2.9) \quad 1 - F(v_n) = \tau/n + o(1/n).$$

Now let $t_n = \max_j \{j < n : v_j < u_n\}$. Then $u_{t_n} \leq v_{t_n} < u_n \leq v_{t_n+1} = u_{t_n+1}$ and $t_n + 1 \leq n$. It is enough to show $\lim_{n \rightarrow \infty} (n/(t_n + 1)) = 1$ for we have

$$(2.10) \quad n(1 - F(v_n)) \leq n(1 - F(u_n)) \leq n(1 - F(v_{t_n})) = \frac{n}{t_n} t_n (1 - F(v_{t_n})).$$

Upon letting $n \rightarrow \infty$ and using (2.9), we have the outside terms of (2.10) going to τ . Thus $1 - F(u_n) = \tau/n + o(1/n)$, giving us the desired result.

Suppose $\limsup_n (n/(t_n + 1)) > 1$. Then there exists a positive integer k and a subsequence n_j such that $(t_{n_j} + 1)/k < n_j/(k + 1)$ for all j . By construction, one has

$$\begin{aligned} P(M_{[n_j/(k+1)]} \leq u_{n_j}) &\leq P(M_{[n_j/(k+1)]} \leq u_{n_j+1}) \\ &\leq P(M_{[(t_{n_j+1})/k]} \leq u_{n_j+1}). \end{aligned}$$

Taking the limit as $j \rightarrow \infty$ and invoking Lemma 2.2, one obtains the contradiction $e^{-\tau/k} > e^{-\tau/k+1}$. Since $t_n + 1 \leq n$, it must be that $\lim_{n \rightarrow \infty} (n/(t_n + 1)) = 1$, completing the proof.

THEOREM 2.4. *Suppose that $D(u_n), D'(u_n)$ are satisfied by the stationary sequence $\{X_n\}$ for all x , where $u_n = (x/a_n) + b_n$ for some constants $a_n > 0$ and b_n . Then, with the established notation,*

$$P(a_n(M_n - b_n) \leq x) \rightarrow G(x)$$

if and only if

$$P(a_n(\hat{M}_n - b_n) \leq x) \rightarrow G(x),$$

for any nondegenerate df G (hence one of the three extreme value distributions).

PROOF. First assume $P(a_n(M_n - b_n) \leq x) \rightarrow G(x)$ for some nondegenerate df G . By the preceding lemma, it follows that $P(a_n(\hat{M}_n - b_n) \leq x) \rightarrow G(x)$ for all x where $0 < G(x) < 1$. Since G is continuous this readily extends to all x .

For the other direction, see Theorem 3.2 in [2]. \square

In the i.i.d. case the limiting distribution of the maxima is *completely* determined by the tail behavior of the marginal df F . As a consequence of Theorem 2.4, the same is also true of a stationary sequence satisfying conditions D and D' . It should also be pointed out that by considering the sequence $\{-X_n\}$, one can obtain similar results for the minima.

3. Joint limiting distribution of the maxima and minima. In this section we give sufficient conditions in order for the normalized maxima and minima (both jointly and marginally) to behave as though the sequence was i.i.d.

Let $\{u_n\}$ and $\{v_n\}$ be two sequences of real numbers. We shall say that the condition $D(v_n, u_n)$ is satisfied if for any n and any choice of integers $i_1 < \dots < i_p < j_1 < \dots < j_q, j_1 - i_p > l$ then

$$|F_{i_1 \dots i_p j_1 \dots j_q}(u_n, \dots, u_n) - F_{i_1 \dots i_p}(u_n, \dots, u_n)F_{j_1 \dots j_q}(u_n, \dots, u_n)| \leq \alpha_{n, l}$$

$$|P(X_{i_1} > v_n, \dots, X_{j_q} > v_n) - P(X_{i_1} > v_n, \dots, X_{i_p} > v_n)$$

$$P(X_{j_1} > v_n, \dots, X_{j_q} > v_n)| \leq \alpha_{n, l}$$

and

$$|P(v_n < X_{i_1} \leq u_n, \dots, v_n < X_{j_q} \leq u_n) - P(v_n < X_{i_1} \leq u_n, \dots, v_n < X_{i_p} \leq u_n)$$

$$P(v_n < X_{j_1} \leq u_n, \dots, v_n < X_{j_q} \leq u_n)| \leq \alpha_{n, l}$$

where $\alpha_{n, l}$ is nonincreasing in l and $\lim_{n \rightarrow \infty} \alpha_{n, l_n} = 0$ for some sequence $l_n \rightarrow \infty$ with $l_n/n \rightarrow 0$. In defining the mixing condition $D(v_n, u_n)$, we could have bounded the three inequalities with different functions satisfying the above criterion. How-

ever, by taking $\alpha_{n,l}$ to be the maximum of the three functions and l_n the maximum of the respective sequences, we see that the two definitions are equivalent. Again, the condition $D(v_n, u_n)$ is potentially much weaker than strong mixing.

In order to obtain the asymptotic independence of the normalized maxima and minima, we shall need the following condition. Let

$$S_{nk} = n \sum_{j=1}^{n-1} [P(X_1 > u_{nk}, X_{j+1} > u_{nk}) + P(X_1 > u_{nk}, X_{j+1} \leq v_{nk}) + P(X_1 \leq v_{nk}, X_{j+1} > u_{nk}) + P(X_1 \leq v_{nk}, X_{j+1} \leq v_{nk})].$$

The condition $D'(v_n, u_n)$ is said to hold if $\limsup_n S_{nk} = o(1/k)$ as $k \rightarrow \infty$.

LEMMA 3.1. *Suppose $D(v_n, u_n)$ is satisfied by the stationary sequence $\{X_n\}$. Then for every fixed positive integer k ,*

$$P(M_{nk} \leq u_{nk}, W_{nk} > v_{nk}) - P^k(M_n \leq u_{nk}, W_n > v_{nk}) \rightarrow 0 \text{ as } n \rightarrow \infty,$$

where $W_n = \min \{X_1, \dots, X_n\}$.

The proof is omitted since it follows the same lines of argument as in the proof of Lemma 2.5 of [2] with the obvious modifications.

LEMMA 3.2. *If $D(v_n, u_n), D'(v_n, u_n)$ hold and $P(\hat{M}_n \leq u_n, \hat{W}_n > v_n) \rightarrow e^{-\tau}$, where $\hat{W}_n = \min \{\hat{X}_1, \dots, \hat{X}_n\}, \hat{M}_n = \max \{\hat{X}_1, \dots, \hat{X}_n\}$, then $P(M_n \leq u_n, W_n > v_n) \rightarrow e^{-\tau}, 0 \leq \tau < \infty$.*

PROOF. $P(\hat{M}_n \leq u_n, \hat{W}_n > v_n) = P(v_n < \hat{X}_1 \leq u_n, \dots, v_n < \hat{X}_n \leq u_n) = (1 - (1 - F(u_n) + F(v_n)))^n \rightarrow e^{-\tau}$ if and only if

$$(3.1) \quad 1 - F(u_n) + F(v_n) = \tau/n + o(1/n).$$

Using elementary bounds and stationarity, we obtain

$$n(1 - F(u_{nk}) + F(v_{nk})) - n \sum_{j=1}^{n-1} P(A_1 \cap A_{j+1}) \leq 1 - P(M_n \leq u_n, W_n > v_n) \leq n(1 - F(u_{nk}) + F(v_{nk})),$$

where $A_s = \{X_s > u_{nk}\} \cup \{X_s \leq v_{nk}\}$. Thus,

$$(1 - n(1 - F(u_{nk}) + F(v_{nk})))^k \leq P^k(M_n \leq u_{nk}, W_n > v_{nk}) \leq (1 - n(1 - F(u_{nk}) + F(v_{nk})) + S_{nk})^k,$$

and now using Lemma 3.1 and (3.1) we have

$$(3.2) \quad (1 - \tau/k)^k \leq \liminf_n P(M_{nk} \leq u_{nk}, W_{nk} > v_{nk}) \leq \limsup_n P(M_{nk} \leq u_{nk}, W_{nk} > v_{nk}) \leq (1 - \tau/k + o(1/k))^k.$$

As in the proof of Lemma 2.1, the result follows upon replacing nk by n in (3.2) and then letting $k \rightarrow \infty$.

THEOREM 3.3. *Suppose there exist real constants $a_n > 0, b_n, c_n > 0$, and d_n such that $D(v_n, u_n), D'(v_n, u_n)$ hold for all x and y with $v_n = -y/c_n + d_n$ and $u_n = x/a_n + b_n$. Then*

$$P(a_n(\hat{M}_n - b_n) \leq x, -c_n(\hat{W}_n - d_n) < y) \rightarrow G(x, y)$$

if and only if $P(a_n(M_n - b_n) \leq x, -c_n(W_n - d_n) < y) \rightarrow G(x, y)$ for some df G with $G(x, \infty)$ and $G(\infty, y)$ nondegenerate distribution functions. Moreover, if this is the case, then $G(x, y) = G(x, \infty)G(\infty, y)$ and $P(a_n(M_n - b_n) \leq x, c_n(W_n - d_n) \leq y) \rightarrow G(x, \infty)(1 - G(\infty, -y))$ for all x and y .

PROOF. Suppose $P(a_n(\hat{M}_n - b_n) \leq x, -c_n(\hat{W}_n - d_n) < y) \rightarrow G(x, y)$. As is well known, the maxima and minima from an i.i.d. sequence are asymptotically independent. Therefore, $G(x, y) = G(x, \infty)G(\infty, y)$. By the preceding lemma, with $\tau = -\log G(x, y)$, we have $P(a_n(M_n - b_n) \leq x, -c_n(W_n - d_n) < y) \rightarrow G(x, y)$ for all x, y such that $G(x, \infty)G(\infty, y) > 0$. But the continuity of $G(x, \infty)G(\infty, y)$ allows us to extend this for all x and y .

Now assume $P(a_n(M_n - b_n) \leq x, -c_n(W_n - d_n) < y) \rightarrow G(x, y)$. It follows, by Theorem 2.4 and the remark made at the end of Section 2, that $P(a_n(\hat{M}_n - b_n) \leq x) \rightarrow G(x, \infty)$ and $P(-c_n(\hat{W}_n - d_n) < y) \rightarrow G(\infty, y)$. The asymptotic independence of \hat{M}_n and \hat{W}_n implies $P(a_n(\hat{M}_n - b_n) \leq x, -c_n(\hat{W}_n - d_n) < y) \rightarrow G(x, \infty)G(\infty, y)$. Invoking the previous paragraph, we obtain

$$P(a_n(M_n - b_n) \leq x, -c_n(W_n - d_n) < y) \rightarrow G(x, \infty)G(\infty, y),$$

for all x and y . Hence we must have $G(x, y) = G(x, \infty)G(\infty, y)$. Also, since $P(a_n(M_n - b_n) \leq x, c_n(W_n - d_n) \leq y) + P(a_n(M_n - b_n) \leq x, -c_n(W_n - d_n) < y) = P(a_n(M_n - b_n) \leq x)$, we have

$$P(a_n(M_n - b_n) \leq x, c_n(W_n - d_n) \leq y) \rightarrow G(x, \infty)(1 - G(\infty, -y)).$$

This completes the proof of the theorem.

It is worth noting that there are examples of sequences satisfying the $D(v_n, u_n)$ condition where the maxima and minima are asymptotically independent, yet marginally they do not behave as though the sequence was i.i.d. The crucial hypothesis in establishing the asymptotic independence of the maxima and minima seems to be the ‘‘cross terms’’ in the $D'(v_n, u_n)$ condition.

4. Examples. We exhibit two sequences illustrating the conditions of Theorem 3.3.

Let $\{X_n\}$ be a stationary Gaussian sequence with $EX_1 = 0, EX_1^2 = 1$, and covariance function $r_n = EX_1X_{n+1}$. It has been shown in [2] and by others that if $r_n \log n \rightarrow 0$ or $\sum |r_n|^p < \infty$ for some $p > 1$, then $P(a_n(M_n - b_n) \leq x) \rightarrow e^{-e^{-x}}$ and $P(a_n(W_n + b_n) \leq y) \rightarrow 1 - e^{-e^y}$ where $a_n = (2 \log n)^{\frac{1}{2}}$ and

$$b_n = (2 \log n)^{\frac{1}{2}} - \frac{1}{2}(2 \log n)^{-\frac{1}{2}}(\log \log n + \log 4\pi).$$

Let $u_n = x/a_n + b_n$ and $v_n = -y/a_n - b_n$. Using a general form of Lemma 4.2

and Lemma 4.3 in [2], one can show that $D(v_n, u_n), D'(v_n, u_n)$ hold for all x providing $r_n \log n \rightarrow 0$ or $\sum |r_n|^p < \infty$ for some $p > 1$. Thus, under these types of restrictions on the covariance function, the maxima and minima are asymptotically independent.

The next example is a 1-dependent sequence where the normalized maxima and minima are not asymptotically independent. First, let $\{Y_n\}$ be an i.i.d. sequence with marginal df F which is symmetric about the origin and belongs to the domain of attraction of some extreme value distribution G . Hence, there exist constants $a_n > 0, b_n$ such that

$$1 - F(x/a_n + b_n) = -\frac{\log G(x)}{n} + o(1/n)$$

for all x where $G(x) > 0$, and

$$F(-y/a_n - b_n) = \frac{-\log G(y)}{n} + o(1/n), G(y) > 0.$$

Now let $\{J_n\}$ be an i.i.d. sequence of Bernoulli trials, independent of the Y_n sequence, with $P(J_1 = 1) = \alpha > 0$ and $P(J_1 = 0) = 1 - \alpha$. Define $X_n = Y_{n+1}$ if $J_n = 1$ and $X_n = -Y_n$ if $J_n = 0$. It is clear that $\{X_n\}$ is a stationary 1-dependent sequence with marginal df F . Let $u_n = x/a_n + b_n$ and $v_n = -y/a_n - b_n$. It is easy to verify that $D'(u_n)$ is satisfied by $\{X_n\}$ and $\{-X_n\}$ so that $P(a_n(M_n - b_n) \leq x) \rightarrow G(x)$ and $P(-a_n(W_n + b_n) \leq y) \rightarrow G(y)$. However, one can show that

$$\begin{aligned} P(a_n(M_n - b_n) \leq x, -a_n(W_n + b_n) < y) &\rightarrow G(x)^{1-2\alpha(1-\alpha)}G(y) \text{ if } y < x, \\ &\rightarrow G(x)G(y)^{1-2\alpha(1-\alpha)} \text{ if } x < y. \end{aligned}$$

Although the limiting marginal distribution of the maxima and minima in this example behaves as if the sequence were i.i.d., the asymptotic joint distribution does not.

REFERENCES

- [1] GNEDENKO, B. V. (1943). Sur la distribution limite du terme maximum d'une série aléatoire. *Ann. of Math.* **44** 423-453.
- [2] LEADBETTER, M. R. (1974). On extreme values in stationary sequences. *Z. Wahrscheinlichkeitstheorie und Verw. Gebiete* **28** 289-303.
- [3] LOYNES, R. M. (1965). Extreme values in uniformly mixing stationary stochastic processes. *Ann. Math. Statist.* **36** 993-999.
- [4] O'BRIEN, G. L. (1974). Limit theorems for the maximum term of a stationary process. *Ann. Probability* **2** 540-545.
- [5] WATSON, G. S. (1954). Extreme values in samples from m -dependent stationary stochastic processes. *Ann. Math. Statist.* **25** 798-800.

DEPARTMENT OF MATHEMATICS
UNIVERSITY OF CALIFORNIA-SAN DIEGO
LA JOLLA, CALIFORNIA 92093